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 LSE-05  

BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination 

June, 2022 

LIFE SCIENCE 

LSE-05 : PHYSIOLOGY 

Time : 2 hours Maximum Marks : 50 

Note :  Use separate answer sheets for Part I and Part II. 

Be brief and precise in your answers. Draw neat 

and labelled diagrams, wherever necessary.  

PART I 

Animal Physiology 

Note : Question no. 1 is compulsory. Attempt any 

four questions from questions no. 2 to 6.   

1. (a) Match the following items given in  

Column A with those of Column B : 6
2
1 =3 

 Column A Column B 

(i) Excitation of Heart (a)  cells of Islets  

   of Langerhans 

(ii) Bile (b) Liver 

(iii) Insulin (c) Immunity 

(iv) Green Gland (d) Muscles 

(v) Leucocyte (e) Crustaceans 

(vi) Troponin (f) SA Node 
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(b) Fill in the blanks :  4
2
1 =2 

(i) The malpighian tubules of insects are 

similar to ____________ (nephridia/ 

protonephridia) because one end of 

each tubule opens into the intestine 

and other end is blind. 

(ii) The tidal volume of resting stage of  

a normal person is ________ (500 cm3/ 

350 cm3). 

(iii) The gonads that produce the sperm are 

called ________ (ovary/testes) 

(iv) __________ (Trail/Alarm) pheromones 

secreted by insects help social integrity 

during migration. 

2. List the various enzymes associated with the 

digestive system. Describe digestion of proteins 

in humans. 3+2=5 

3. Draw a neat and well-labelled diagram of a 

nephron. Explain how kidney function is 

regulated by Renin-Angiotensin System  

(RAS). 2
2
1 +2

2
1 =5 

4. What is action potential ? How is action 

potential generated and conducted in  

non-myelinated nerve fibres ?  2+3=5 
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5. List the hormones secreted by pituitary gland 

and state one function of each. 5 

6. Write short notes on any two of the  

following :  22
2
1 =5  

(a) Menstrual Cycle 

(b) Desert Adaptations in Kangaroo Rat 

(c) Lymphatic System  

(d) Oxygen Dissociation Curve 
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PART II 

Plant Physiology 

Note : Question no. 7 is compulsory. Attempt any 

four questions from questions no. 8 to 12. 

7. (a) Fill in the blanks in the following  

statements : 21=2 

(i) N2-fixing microbe __________ can grow 

with N2, –
3NO  or 

4NH  as nitrogen 

source. 

(ii) Molybdenum is absorbed by plants in 

the form of __________ ion. 

(b) Choose the correct alternative from the 

words given in the parantheses : 2
2
1 =1 

(i) Carotenoids appear (blue-green/orange) 

in colour. 

(ii) The qualitative changes in a cell that 

lead to increased specialization is 

called (differentiation/totipotency). 

(c) Define any two of the following : 21=2 

(i) Gifted Species 

(ii) Vernalisation 

(iii) Water Potential 
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8. Discuss the importance of dark period in 

flowering of plants. 5 

9. Define transpiration. Discuss the role of stomata 

in its prevention.  5 

10. List the plant hormones and write the role of 

any two of them. 2+3=5 

11. Briefly describe with labelled diagram Z-scheme 

of electron transfer in photosynthesis. 5 

12. Write short notes on any two of the  

following :  22
2
1 =5 

(a) Photosynthetic Pigments 

(b) CAM Plants 

(c) Biological Stress 
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 Eb.Eg.B©.-05  

 {dkmZ ñZmVH$ (~r.Eg gr.) 

gÌm§V narjm 
OyZ,  2022 

Ord {dkmZ 

Eb.Eg.B©.-05 : eara-{H«$`m{dkmZ 

g_` : 2 KÊQ>o  A{YH$V_ A§H$ : 50 

ZmoQ> : ^mJ I Am¡a ^mJ II Ho$ {bE AbJ -AbJ CÎma-nwpñVH$mAm| H$m 
Cn`moJ H$s{OE & AmnHo$ CÎma g§{jßV VWm gwñnîQ> hmoZo Mm{hE & 
Ohm± Amdí`H$ hmo, dhm± ñdÀN> Ed§ Zm_m§{H$V AmaoI ~ZmBE & 

^mJ I 

àmUr eara-{H«$`m{dkmZ 

ZmoQ> :  àíZ g§. 1 A{Zdm`© h¡ & àíZ g§. 2 go 6 _| go {H$Ýht  
Mma àíZm| Ho$ CÎma Xr{OE &   

1. (H$) H$m°b_ A H$m H$m°b_ B _| {XE JE {ZåZ{b{IV _Xm| 
go {_bmZ H$s{OE :  6

2
1 =3 

 H$m°b_ A  H$m°b_ B 

(i) öX` H$m CÎmoOZ (H$) b¢Jah¡Ýg Ûrn H$s 
    H$mo{eH$mE± 
(ii) {nÎm (I) `H¥$V 
(iii) B§gw{bZ (J) à{Vajm 
(iv) har J«§{W (K) _m§gno{e`m± 
(v) ídoV aº$ H$mo{eH$m (L>) H«$ñQ>o{e`Z 
 (ídoVmUw) 
(vi) Q´>monmo{ZZ (M) SA ZmoS> 
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(I) [aº$ ñWmZm| H$s ny{V© H$s{OE :  4
2
1 =2 

(i) H$sQ>m| H$s _¡bnrJr Z{bH$mE± __________ 

(Zo\«$s{S>`m/àmoQ>moZo\«$s{S>`m) Ho$ g_mZ hmoVr h¢ 

Š`m§o{H$ BZ_| go àË òH$ Z{bH$m H$m EH$ {gam ~§X 

hmoVm h¡ Am¡a Xÿgam {gam Am±V _| IwbVm h¡ &  

(ii) EH$ gm_mÝ` ì`{º$ _| Amam_ H$s pñW{V _| 

_________ (500 cm3/350 cm3) Ádmar` 

Am`VZ hmoVm h¡ &    

(iii) ewH«$mUw CËnÞ H$aZo dmbo JmoZS> __________  

(A§S>me`/d¥fU) hmoVo h¢ & 

(iv) H$sQ>m| Ûmam ________ ({Xem{ZX©oer`/MoVmdZr) 

\o$amo_moZ òm{dV hmoVo h¢ Omo àdmg Ho$ Xm¡amZ 

gm_m{OH$ Vmb_ob ~ZmE aIZo _| ghm`Vm 

H$aVo h¢ & 

2. nmMZ V§Ì go g§~§{YV {d{^Þ E§µOmB_m| H$mo gyMr~Õ H$s{OE & 
_mZdm| _| àmoQ>rZm| Ho$ nmMZ H$m dU©Z H$s{OE & 3+2=5 

3. EH$ Zo\«$m°Z H$m ñdÀN> VWm gwZm_m§{H$V {MÌ ~ZmBE & d¥ŠH$ 
H$m`© Ho$ {Z`_Z Ho$ {bE ao{ZZ-EopÝO`moQ>opÝgZ V§Ì (RAS) H$s 
ì`m»`m H$s{OE & 2

2
1 +2

2
1 =5 

4. {H«$`m {d^d Š`m hmoVm h¡ ? A_mB{bZ`wº$ V§{ÌH$m V§VwAm| _| 
{H«$`m {d^d {H$g àH$ma CËnÞ hmoVm h¡ Am¡a MmbZ hmoVm  
h¡ ? 2+3=5 
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5. nr`yf J«§{W go òm{dV hm°_m}Zm| H$mo gyMr~Õ H$s{OE Am¡a 

àË`oH$ H$m EH$ H$m`© {b{IE & 5 

6. {ZåZ{b{IV _| go {H$Ýht Xmo  na g§{jßV {Q>ßn{U`m±>  

{b{IE :  22
2
1 =5 

(H$) aOmoMH«$ 

(I) H§$Jmê$ Myhm _| _éñWbr` OrdZ Ho$ AZwHy$bZ  

(J) bgrH$m V§Ì 

(K) Am°ŠgrOZ {d`moOZ dH«$ 
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^mJ II 

nmXn-H$m{ ©̀H$s {dkmZ 

ZmoQ> :  àíZ g§. 7 A{Zdm ©̀ h¡ & àíZ g§. 8 go 12 _| go {H$Ýht 

Mma àíZm| Ho$ CÎma Xr{OE &   

7. (H$) {ZåZ{b{IV H$WZm| _| [aº$ ñWmZm| H$s ny{V©  
H$s{OE : 21=2 

(i) __________ O¡go N2-`m¡{JH$sH$maH$ gyú_Ord 
(_mBH«$mo~) N2, –

3NO  `m 
4NH  H$mo ZmBQ´>moOZ 

H$mo òmoV Ho$ ê$n _| XoZo na CJ gH$Vo h¢ & 

(ii) nm¡Yo _m°{bãS>oZ_ (Mo) H$mo __________ Am`Z 

Ho$ ê$n _| Ademo{fV H$aVo h¢ &  

(I) H$moîR>H$m| _| {XE JE eãXm| _| go ghr {dH$ën  

Mw{ZE : 2
2
1 =1 

(i) H¡$amo{Q>Zm°BS>m| H$m a§J (Zrbm-ham/g§Var) {XIVm 
h¡ &  

(ii) {H$gr H$mo{eH$m _| dh JwUmË_H$ n[adV©Z 
{OgHo$ Ûmam {deofrH$aU ~‹T> OmVm h¡, dh 
({d^oXZ/nyU©eŠVVm) H$hbmVm h¡ & 

(J) {ZåZ{b{IV _| go {H$Ýht Xmo  H$s n[a^mfm Xr{OE : 21=2 

(i) j_Vm gånÞ Om{V`m± 

(ii) dgÝVrH$aU 

(iii) Ob {d^d 
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8. nwînr` nm¡Ym| _| AàXrá H$mb Ho$ _hÎd H$s {ddoMZm H$s{OE & 5 

9. dmînmoËgO©Z H$s n[a^mfm Xr{OE & BgH$s hm{Z H$mo amoH$Zo Ho$ 

{bE a§Y«m| H$s ^y{_H$m H$s {ddoMZm H$s{OE & 5 

10. nmXn hm°_m©oZm| H$s gyMr ~ZmBE Am¡a BZ_| go {H$Ýht Xmo H$s 

^y{_H$m {b{IE & 2+3=5 

11. àH$me-g§íbofU _| BboŠQ´>m°Z A§VaU H$s Z-`moOZm H$m g§{já 

dU©Z Zm_m§{H$V {MÌ g{hV H$s{OE & 5 

12. {ZåZ{b{IV _| go {H$Ýht Xmo  na g§{já {Q>ßn{U`m±  

{b{IE :  22
2
1 =5 

(H$)  àH$me-g§íbofr dU©H$ 

(I) H¡$_ (CAM) nm¡Yo 

(J) O¡dr` VZmd 


